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H2O ratio (from GBG)

pass: 78.6%
RMSE: 1.41
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∆P (hPa, from L2)

pass: 72.9%
RMSE: 0.95
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∆P (hPa, from ABP)

pass: 68.5%
RMSE: 0.91
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AOT: DU

pass: 66.8%
RMSE: 0.84
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Total AOT

pass: 65.4%
RMSE: 0.82
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AOT: ice

pass: 64.3%
RMSE: 0.78
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XCH4 uncert. (ppb)

pass: 63.6%
RMSE: 0.78
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CO2 ratio (from GBG)

pass: 63.0%
RMSE: 0.75
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CO2 grad. delta (ppm)

pass: 62.6%
RMSE: 0.72
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ILS scale factor (band 2)

pass: 62.4%
RMSE: 0.70
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Number of iterations

pass: 62.4%
RMSE: 0.70
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Air mass factor mair

pass: 62.4%
RMSE: 0.70
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